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And even in the first one - RNMAPI Y9IDRY

Overview

The 71wn stated that if a man said to a woman become NWTP» to me with this date
and with this date, etc. if all the dates together are worth a 7v179, she is nwMpPA.
However (as the X 1) explains), if (in the case of 1121 1121 72 % *WIpPni) she was
eating them, she is nWTPn only if one of the dates alone was worth a 70175 (but not
if all of them together are worth a fv175 [since she was consuming them]). The
X3 asked is she nwTIPn even if just the first date was worth a 7179, but not the
last date? mpdoIN cites s""w1 explanation of the X7 and reconciles it with a
seemingly contradictory Xna.

= 10199 MY NIYN IN NHYNIN AN DIVNPa W9
>''"w9 explained the s'X 13 question; is she nWTP1 even if only the first or second
date is worth a D -

- HYUNHPN NVIID MY NHINN PRT 22 IY 9N

Even though the last date is not a 772192 MW, and nevertheless she is nwTpn -
- 19919 0Y2DNY 1Y 19133 RY PYITPAT 1199 XN N5 N

But how can that be, for it is a loan, since the 12172 were not completed until

she received all of them -
= 2) MYN 12999 PYTIPA DN Zﬂ)‘Pn\’) 0P 923 NNHYNIN 99N NI

And she already ate the first date before she acquired it as P279p, so it is a
loan to her, and one cannot be nwTpn with a loan.

MooIn asks (on >"'wAD):
- 250 19N 990 1Y INN PYITP NHINIT 1170 99NN ON)

" Let us assume he wants to be wTpn her with three dates (and he says 71 1w w2 *H wIpnn), the PwrTp do not
become effective until she receives all three dates. When she received the third date she already ate the first two
dates (and when she ate them the 7w17°p did not take effect yet). This means that at this point she owes him the value
of those two dates [for if he would not give her the third date (so there is no 1217°p), she has to return the value of
the dates she ate]. One cannot be w7p»n a woman by forgiving her a loan which she owes him (see 2,1), so even if he
forgives her the loan of the dates she ate, that cannot be considered 7"¥17°p since it is a forgiveness of a loan. Now if
the third date is not a 70179 MY how is she NWTPn, it cannot be with the first dates because they are a loan, it cannot
be with the last date because it is not a 8", so how can she be nwTpn?! This the question of the X713 (according to
"wI9).

% The n"a77 M7 amends this to read 7w (instead of nipnw).

? moon is distinguishing between a loan which a woman owes a man previously (that money was not given for
1w17p and it belongs completely to the woman, so) that by forgiving this loan there is no 7"w17°p (since forgiving a
loan is not considered as if he gave her 117 703), and our case here where there was never an actual loan since the
money (dates) were given as 7W17°pP payment.
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And if you will say; since the dates came to her possession as 127> payment,

how is it considered a loan?!
- 401 79 ANNY Y9 SUTPNN NYURY MIIND (4,03 41 MIND P93 11959 1359 NN

For X1mw 21 state later in 9287 P92 (on the mwn that) if one says to a woman;

‘become nwTP» to me after thirty days’, so “x»w1 27 comment -
- A9 NN PYITHH NNNAT NI 1N NIYM INY AN *HUNHDN Mynn 199NN 1999

Even if the money was eaten up (she spent the money) before the thirty days
were over, nevertheless she is nwpn (after the thirty days passed); it is evident
from this ruling that if the money came into her possession as °217°? money, it
is not a loan, so why here is it considered a loan.

N1B0IN answers:
- 7Y9axNIY BN 933 N3N 390 BNNT PINY YT A5 U

And one can say; that it is possible to differentiate between the two cases, for
there (by the thirty days), the saying of w1 7P was completed before the money

was consumed (therefore the money is not considered a loan, but w17°p 7o) -
- 59399NN 19201 IR 1Y PVITPN 191203 NDT NN HaN

However here (by the dates) the 1w 7T? were not complete until the last

transfer’ of the last date -
YN 17 MTNT 99599 NN 3IWN) NIYNID NYIN 79 TIN)

And during that time (before the act of Pw17°p was completed) she ate the first
and second dates, in such a case we can say that the eaten dates are a loan which

she owes, and therefore not eligible for PL TP money.

* The Pw17p do not go into effect now, but rather only after thirty days have passed. m201n (in the question) assumes
that this is similar to our case where she received only two dates (and ate them), so the w17 are not in effect yet.

> Just as in the case of NMynA 128Ny, she is nwTpn with the original money (even though when the 1217 become
effective [after thirty days] there is no money available) because the monies were given to her Pw17p ow? (and
therefore are not considered to be a loan), similarly here too, she should be nwTipn with the first dates once the
7P become effective (when she receives all the dates) since they were given to her Pw TR aw® (so they should
not be considered as if he is w7pn her with a loan). How can we distinguish between these two cases?!

% See footnote # 9

” The entire act of 7wTp took place already; he said the 121 nx ™7 and he gave her all the money; what is lacking is
merely the effectiveness of the 117", but not any action, therefore the money she received is 7w 7P 703.

8 The PwITp are not complete until she receives all the dates, since he said 121 1721 721 w2 12 *w7pni. Therefore until
the 1Pw17P are complete, anything (dates) that she receives are merely a 11729 (until the Pw17p process is over), but if
she ate them (before the 1w process finished) it becomes a loan, with which he cannot be w7pn her.

? 1t is apparent from these words, that here (by the dates) even if the M2°7 was completed (he said 21 %2 % *w7pn7
1121), nevertheless since the 1"w17°p7 nwyn were not completed (she ate the dates before she received the last one), it
is considered a loan. [We will need to say that when '01n wrote 121 7131 112’77 "7, he did not mean merely the 71277,
but rather the entire 1w17°p1 7wyn was completed (see footnote # 6 & 7). See (however) 7707 *w1on R # 116-9.]
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Summary
Monies which were given for 717’ and are in the woman’s possession after the

entire YRR Awyn was completed do not have to be ‘there’ when the W 7P
become effective (the case of a1 > XY % >wTpnI); however monies which were
received before the Pw17°P Awyn was completed need to be ‘there’ when the nwyn
TYTR 1s completed; otherwise it is a loan (the case of the dates).

Thinking it over
Does Moo1n mean that in the case of "2 7nXY, since all the money was there after the

completion of the Pw17°P Awyn, the monies are not considered a loan and therefore
there is a W72 M, or that since the 1°W17°p7 Twyn was without a loan so it does
not matter that the PwY7°p7 M°n is through a loan?'°

10°See mwn nvm.
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